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Compliance Requirements Overview

The standard two-wire telephone-set connection known as analog PSTN {Public Switched Telephone Network) {iocop . ) . s e o ,
stark} or POTS (Plain Old Telephone Service) is the oidest but still most widely used service offerad by the telephone (m Doe 1S %N%BO&:\% 5 1= %@%} ﬁ% !
companies,

Other types of analog services offered by the telephone companies include:
* Four-wire services, using separate pairs of wires for ransmitting and receiving provides improved fidelity;

33

R prESumne, @0%%3@%%@&% %“ﬁi@%é@w}s@

+ Reverse battery services aliow automated PBXs to act 2s locelized central offices; [ 3 o0 o e
* Ground start and E and M tie trunks offer more reliable methods of signaiing than the lpop start systems. "urp D e = ,,__.___PS_.\;._.._-—
In addiion to the public switched services, where the user can dial different numbers, private point-to-point services %J &‘( 2 4
= %

are provided in both twoe-wire and four-wire formats.

= .94y 0% Mg

Local loop

A customer equipment (siso called subseriber or terminal equipment).is usually connected to the telephone compsny @

exchange (Central Office} by on aversge about 5 ilometers (3 miles) of a twisted pair of No. 22 {AWG) or 0.5 mm ;}, - o=

Copper wires, known as the subscriber (local) ioop. The resistance of 0.5 mm wire (single lead) is 15.5 ohm per < ~J7 @

thousand feet {54 ohm per 1 len}. The twisted pair is used to provide a balanced line which reduces common modg \ﬁ\

interference (crosstalk) from adjscent pairs In the cable and RFI (Radio Freguancy Interference), Balance is & measure vl s -(,\y
of equality of impedance betweer each Jead In the pair {ralled Tip and Ring) and the ground. In order o keep the @,é,w (éDOY |o S - bqﬁéw{p@% Mg‘!ﬁ
balance of the line, the terminal equipment should be balanced ziso.

Figure 1. Local Loop. ‘,;Q, = 6 » %(Z_!Ll\/l
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The telephone company applies loop feed DC voitage between Tip and Ring st the Central Office {CO). This voltage is
50 Vdc on average. Terminal equipment should be able to operate with both positive and negative voliage polarity.

Tabie 1. DC feed voltages - Test requirements per national standards.
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